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PART I

1.
1-A
1.1 General body cavity of an arthropod is called ,
(a) haemocoel .
(b) Pseudocoel .
(c) Coelom .
(d) Gastrocoel.

1.2 Which of the following hormone stimulates the gall bladder to release bile juice
(a) Secretin

(b) Enterokinase

(c) Cholecystokinin

(d) Serotonin

1.3 Which of the following is not a poikilothermic animal?
(a) Toad

(b) Lizard

{c) Bird

(d) Snake

1.4 Ammonia is the chief nitrogenous waste of product of
(a) gastropods.

(b) amphibians.

(c) turtles.

(d) amphibian larvae.

1.5 During the resting membrane potential which of the following ionic concentration
can be expected .

(a) Pottasium is more in the extracellular fluid.

(b) Chloride is more in the intracellular fluid.

(c) Proteins are more in the extracellular fluid.

(d) Sodium is the more in extracellular fluid.

1.6 Which one of the following enzyme will react on certain carbohydrates ? -
(a) Trpsin

(b) Chymotripsin

(c) Salivary amylase

(d) Pepsin.

1.7 ADH acts on the nephron to,
(2) prevent absorption of water
(b) facilitate filtration.

(c) aid in the dialysis.
(d) absorb water.



1.8 Body temperature is regulated by the
(a) hypothalamus.

(b) medulla.

(c) pons.

(d) cerebellum.

1.9 In a food chain of grassland ecosystem, the top consumers are
(a) herbivores.

(b) camnivores.

(c) either herbivores or carnivores.

(d) bacteria.

1.10 Which one of the forest type shows a long summer period and short winter period
(a) Tropical rain forest.
(b) Tropical deciduous forest.
(c) Tropical evergreen forest.
(d) Equatorial rain forest.

1.11 Biomes are
(a) Aguatic vegetation.
(b) Major ecological grouping plants.
(c) Large sized ecosystem.
(d) Major ecological grouping .

1.12 Which one of the following represents a Nitrogen fixing bacteria.
(a) Nitrozomanas
(b) Nitrobacter
(c) Azotobacter.
(d) Ferrobasillus.

1.13 Acid rains occur when atmosphere is polluted with,

(a) SO2
(b) NO2
(cy CO

(d CO2

1.14 Which one of the following statements is incorrect regarding animal skeletons?

(a) Skeletons assist in locomotion.

(b) Annelids have a hydrostatic skeleton

(c¢) Exoskeleton limits the growth of animals
(d) Endoskeletons are confined to vertebrates.



1.15 Which one of following organisms is least harmful tc human?

(a) Plasmodium vivax
(b) Entamoeba coli.

(¢c) Wucheria bancoffti
(d) Clostridium tetani

1.16 Which one of the following is common to both cardiac muscle fibre and smooth -
muscle fibre ?

(a) Striated structure
(b) Spindle shape

(c) Never fatigue

(d) Involuntary control

1.17 The most significant cause of loss of biodiversity in Sri Lanka due to,

(a) Global warming.

(b) Destruction of habitats.

(¢) Destruction of the ozone layer.

(d) Human consumption of native plants for food.

1.18 Which of the followin
human?

g hormone is not synthesized by the pituitary gland of
(a) Prolactin

(b) Growth hormone

(¢) Thyroid stimuiating hormone

(d) Oxytocin

1.19 A nematode can be easily distinguished from an annelids due to,

(a) cylindrical shape.

(b) unsegmented body.

(¢) presence of cuticle.

(d) absence of appendages.

1.20 In the human ear,

(a) the stapes is in contact with the round window.

(b) semicircular canals are important for the maintain of body posture.
(¢) the cells sensitive to sound waves are located in the vestibule.
(d) the middle year is filled with perilymph.



-

1.21 Sclect the correct order of the layers of the atmosphere from the surface of earth to
upwards

(a)  Stratosphere, mesosphere,thermosphere, ionosphere, ozone layer.

(b) Troposphere, mesosphere,thermosphere,ozone layer, ionesphere.

(c) Stratosphere, ozone layer, mesosphere, troposphere, ionosphere.

(d) Troposphere, stratosphere, mesosphere, ionosphere.

1.22 An example for learning behavior of an animal is,
(a) kinesis.
(b) taxis.
(c) imprinting.
(d) reflex.

1.23 In human skeleton 8”’, 9“‘, and 10“’, ribs are called,

(a) Floating ribs.

(b) False ribs.

(c) Fibula.

(d) None of the above.

1.24 Select incorrect statement regarding human pancreas,

(a) It function both as an exocrine and as endocrine gland
(b) Pancreatic juice contains two proteolytic enzymes

(c) Damage to langerhan islets may lead to diabetes mellitus
(d) Secretin regulates functioning of the pancreas

1.25 Human thoracic vertebrae consists of

(a) 14 bones.
(b) 12 bones.
(c) 15 bones.
(d) 13 bones.



ii.

iii.

Vi.

Vii.

Structured essay questions (Part I- B)

What is meant by nutrition

State the main processes of holozoic mode of nutrition.

What is the function of ptyalin present in human saliva.

Give three functions of the human gastric juice

How absorption is increased in the small intestine of man.

Name three proteolytic enzymes in human pancreatic juice.

What are the function of amino peptidases in intestinal juice?




ii.

1.

Iv.

vi.

viii. Name the two parts of the alimentary canal where fat is digested

ix. Give two non enzymatic substances found in bile.

. What is meant by excretion?

How does defaecation differ from excretion.

State the two main excretory products of man.

Name two animal groups that excrete solid nitrogenous waste as products.

What are the excretory organs of earth worm?

State two main factors which determine the nature of excretory products of an animal.




viil.

ix.

Give three functions of the human kidney other thai urine producticn.

00152

Name three ions secreted by the human nephron.

State one main function of the juxta glomerular complex of the human kidney.

Explain briefly why it is necessary to drink water frequently to reduce the risk of
developing stones in the kidney.




PART B
Essay questions

Answer any three (03) questions

2. (i) What is meant by « biodiversity”?
. (i) What are the factors affect to the loss of biodiversity?
(iii) Discuss the methods that is used to conserve biodiversity in Sri Lanka.

3. Explain how temperature is regulated in human body.

4. (i) What is meant by “ respiration™?
(i) What are the main features that should be present in an efficient respiratory
surface of an animal?
(iii) Briefly describe the respiratory structures found in invertebrates,

5. (i) List the characteristic features of phylum Mollusca.
(ii). Name the classes belong to this phylum and explain characteristic features of
these classes.

6. Write short notes any two (02) of the following

(a). Locomotion on land

{b). Air pollution

(¢). Nervous systems in invertebrates.
(d) Cardiac muscle.
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PART 1

1-A

1.1 General body cavity of an arthropod is called ,
Oursieumen @@ DUSHFUCLTLTENS 2 L BGW SimpsslLBalg),
(a) haemocoel .
GGG
(b) Pseudocoel .
Gumedla @10
(c) Coelom .
2 L BeY
(d) Gastrocoel.
2_HTEHSH0HEGL

1.2 Which of the following hormone stimulates the gall bladder to release bile juice
Uelieupeuseubmist elhsd @Oumsn Gssamens CeisfBubBmesnans HaslemLami
ST

(a) Secretin
Q& asiyifletr

(b) Enterokinase
stamfGmmen s Benar

(c) Cholecystokinin
BaredlenaCyrendellat

(d) Serotonin
BFQyL_BLmenNetr

1.3 Which of the following is not a poikilothermic animal?
LNeiteumeusmaNbmIeT 676 LrmGeulLBlmeowIBm  efevriE.
(a) Toad
Coemy
(b) Lizard
6060
(c) Bird
LImen6)
(d) Snake
LITLDLL

1.4 Ammonia is the chief nitrogenous waste of product of
S(@wrefwr UMysren wBHIFST SPouTsds SremiuBL  ellsumid,
(a) gastropods.
Heroy BB 6T
(b) amphibians.
st lwirdseit
(c) turtles.
BHLGOTENLOSH6IT
(d) amphibian larvae.
ST @bt

(O8]
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1.5 During the resting membrane potential which of the following ionic concentration can
be expected?
Quley CsiFels] SWeHsHH0 Usiaimeausmaubpied ahg SwadGsenss sraliTLniébs
(Wiguitd.
(a) Pottasium is more in the extracellular.
Oeusldbseushdled GuTL Lrduid igsib
(b) Chloride is more in the intracellular fluid.
DBSBOUUSTTHSHHI0 &Cenmeng. Siglsib
(c) Proteins are more in the extracellular fluid.
OeueilEEeULSTTSSHSB0 LIHD DFsD
(d) Sodium is the more in extracellular fluid.
QeueEBeLILSNTHSHHH CFmouid SiasLD

1.6 Which one of the following enzyme will react on certain carbohydrates?
dsireumeveiouppled a1hg OBTEHWLD GMiibs SréLTmesCTHmISEsEHL 6l HTHEGLD
(a) Trpsin
gIflietr
(b) Chymotripsin
e &GLom M L1eAed
(c) Salivary amylase
2_ DB SiemioGsua
(d) Pepsin.
QUi etr

1.7 ADH acts on the nephron to,
ADH @nere Apmresaulsd GawuBuEb

(a) prevent absorption of water

BT SEHHVEhFme0 HBEHS
(b) facilitate filtration.

8|I9&BLL M6V BIBLDSHSH
(c) aid in the dialysis.

Fpuifitiled o geu
(d) absorb water.

BT BB ehe

1.8 Body temperature is regulated by the
2 L6 Geiuplensy FrréastiL@Gog :
(a) hypothalamus. -
uflwassasiflemmsd
(b) medulla.
OLOWIET EDLOLLID
(c) pons.
auGrmedluiesr LmeVLD
(d) cerebellum.
epsil
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1.9 In a food chain of grassland ecosystcm, the top consumers are
@@ LsUBHey &HipMOSTEaAulE o WiHlemsy Hisir@suri
(a) Herbivores.
STeUTS_anTenlls6r
(b) Carnivores.
D6 60)| 60016101 &5 61T
(c) either herbivores or carnivores.
HTEUTD_6oiTemilB6IT  SIGLEVG| 28Tan)| 6006l & 61T
(d) Bacteria.
uasifflwr

- 1.10 Which one of the forest type shows a long summer period and short winter

period
Leireueueeumiled e1b&ET Houensd Bl GHTemL ETeGmSLD Gniadw
HIeHeNGHUID ClBTewIL &I

(a) Tropical rain forest.
SIUIGILDEWIL 60  LDEWLDEST(HEB6TT

(b) Tropical deciduous forest.
SIWISILOGTIL 60 E)emeut |STEHT(B 61T

(c) Tropical evergreen forest.
DIULIGHLDEWHL 60 6TENMID LIGeMIOWITeN BT HB6T

(d) Equatorial rain forest.
wHHW Cam BEGMNWL WenpdhsTHE6T

1.11  Biomes are
2_uliflendgnl L BIG6TTeN6T
(a) Aquatic vegetation.
B Hreumisei
(b) Major ecological grouping plants.
Ureren G oedllisd GUoaITdEEES HoUJHIGE
(c) Large sized ecosystem. :
Guifluwiseumsn & pBOSHTE&: S BT
(d) Major ecological grouping.
Ly STe  FHpedlied @G(oeuTdHaHID

- 1.12° Which one of the following represents a Nitrogen fixing bacteria?
deieumeusoieubiled 61z ewpHIFen uHEGL udsfllurmer rgBesaniuGsaib?
(a) Nitrozomanas
N (b) Nitrobacter
(c) Azotobacter.
(d) Ferrobasillus.

1.13 Acid rains occur when atmosphere is polluted with,
@semed aueiloami6old Te UGSHSILGISMTE SUBl60 M © (HauTELw,
(a) SO2
(b) NO2
(cy CO
d) CO2



1.14 Which one of the following statements is incorrect regarding animal skeletons?
Ueteumd Sappibseieo afleomi@ sueiign® UBBS SHeummeng?
(a) Skeletons assist in locomotion.
ausiign® @LUCUWTFASE 2_sa|b
(b) Annelids have a hydrostatic skeleton
SIIILTHH6T @ BHBlensouiicd cusignl enL & OB TEmg [HELD
(c) Exoskeleton limits the growth of animals
Umpeusiign(® efleonigssian eusnirdFdlenut 10U BLILIBSHSHID.
(d) Endoskeletons are confined to vertebrates.
SIGeUsTFBEH6T  (psiTenhHaiBefaendd WL G alenTumdbalIUlHeiTeng

1.15 Which one of following organisms is least harmful to human?
Usiaumersaudmled 6181 WAlSMIGEE GMBHHeTe] UTH UL GHUBSHSHID
(a) Plasmodium vivax
(b) Entamoeba coli.

(c) Wucheria bancofti
(d) Clostridium tetani

1.16 Which one of the following is common to both cardiac muscle fibre and smooth
muscle fibre ?
Lereumeusneumnilsd 6T&H EHUISHHMFHEHBEGID OIPIDPUILITENT  Hena &(6The LD
CurglsuTen I
(a) Striated structure
sulfl QBT Siemioli
(b) Spindle shape
BHHHHEUTE  SIENLOLIL]
(c) Never fatigue
@OOUTSHID SHememILENL I DML T
(d) Involuntary control
gFsmsliamiu si_GUuUr®

1.17  The most significant cause of loss of biodiversity in Sri Lanka due to,
@evmenasuied 2 ulfleriLsbausnseny GpdaliLBelSbane LlysTer amyeund
(a) Global warming.
&,o60 GeuliLpmIHeL -
(b) Destruction of habitats.
amgl. ooy
(c) Destruction of the ozone layer. S
GamelT UsHL  SIPIIL]
(d) Human consumption of native plants for food.
50HE SHTUIRIEEMET 2 e bETd eMHT 2 6B HeH60
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1.18 Which of the following hormone is not synthesized by the pituitary gland of
human?
Yereulo @Gomeiisslsd 618 el suFHTLLTUTesd QFHm@dslILIB &e0emen
(a) Prolactin '
L|Gymevdsfleir
(b) Growth hormone
sueniT& e gGLomedt
(¢) Thyroid stimulating hormone
msCrrui.  seving  gGELomssT
(d) Oxytocin
@&AGyTdle0

1.19 A nematode can be easily distinguished from an annelids due to,
m QpwITLT Qevgars @ ieedilrelelmbas CaumuGHSILGMS
(a) cylindrical shape.

2 _(HEWET 2_(HEUT6D
(b) unsegmented body.

SHIWIBLLTSH © 1 606D
(c) presence of cuticle.

UpHBHTed STemr i IBelBHTeD
(d) absence of appendages.

DICUWIUBIBET  ST6WIILL THSTED

1.20 In the human ear,
weng STSHEL
(a) The stapes is in contact with the round window.
FhHUmeuTeng s eul L WIHETENIL 681 QML TGN WIGHTHd BT ILIGLD.
(b) Semicircular canals are important for the maintain of body posture.
Syl L& SHIL6UTUISST 2 | BFobhensven Cuanmided LNySTaioTaiene
(c) The cells sensitive to sound waves are located in the vestibule.
QEIWIMENEE 2_amiTHBeEDsien He0hIGEsT SHeameveuTulledled GremiLiLD.
(d) The middle year is filled with perilymph.
BHSETHTSH GHOIBmBTsmTed Byl ILICILL Q& ELD.

Select the correct order of the layers of the atmosphere from the surface of earth to

upwards
aueMoewTL 605 &le LsnLsemen LsMCuBLriledmha Gwsd@hrad @upmiE
uBSHienTed, Ffwimen eufleng

(a) Stratosphere, mesosphere,thermosphere, ionosphere, ozone layer.

(b)  Trophosphere, mesosphere,thermosphere,ozone layer, ionosphere.

(c)  Stratosphere, ozone layer, mesosphere, trophosphere, ionosphere.

(d) Trophosphere, stratosphere, mesosphere, ionosphere.



1.22 An example for learning behavior of an animal is,
@0 ollomds BLGHemgemuw BSDUSDBEIO Q@ 2 HIFeWILOTS SIEMLORIH)
(a) kinesis.
QuIbaEID
(b) taxis.
BHIEVBIBED
(c) imprinting.
uBWwE Qe L
(d) reflex.
Qg

1.23 In human skeleton 8th, 9" and 10“‘, ribs are called,
eilS eueiTaml 1960 Seytb 9ylb 100 efleorQsussi@sir SIMPESLILB6I S
(a) Floating ribs. '
WssGh efleorQaisissit
(b) False ribs.
Gumrel eflsomQeusiii&weir
(c) Fibula.
SMEMIEHT60  GleuerlGlutesiL
(d) None of the above.
GLosbaumeusTsuBTes 61&I6 606D

1.24 Select incorrect statement regarding human pancreas,
et Fmgull QBMLiture Heumpmen Fabm
(2) It function both as an exocrine and as endocrine gland
BB DIBEHHTHEGLD,LMDEHF]THELD srudl @gemLnseld QsmABu@h
(b) Pancreatic juice contains two proteolytic enzymes
FmHLEFFTE Qreani® UrsiIfiy Oprawurismend Gamemt[Berteng
(c) Damage to langerhan islets may lead to diabetes mellitus
RevnissTer Apgaseisy gHUGID urgliy pRflelbe G GFeFsauDd
(d) Secretin regulates functioning of the pancreas
- sruy samsulullar Qsmlbum el FIrH e

1.25 Human thoracic vertebrae consists of
el CBEhFmp (eiTGemeiy OEmemTg®ILIg
(a) 14 bones.
14 etetiigemeit
(b) 12 bones.
12 eretryeseit
(c) 15 bones.
15 erstiyeseit
(d) 13 bones.

13 sretryaseit




Structured essay questions (Part I- B)

simwiys sLHMT alamdsssi(ugs I- B )
1-B

1. What is meant by nutrition
Gurgemeam 6TGTLISTEL efleNBIGoIE WTSH

ii. State the main processes of holozoic mode of nutrition. :
Wwmowns allhGh Cursment (peompullst Ly srer LI (LPENDEBEN6NE  H(HE.

tii. What is the function of ptyalin present in human saliva?
el 2 _1BipBhesiien Hweleflsr Gsmsd srebmen?

iv. Give three functions of the human gastric juice
' wels 2 srFemmrist OsTdsvast psim HHB.

v. How absorption is increased in the small intestine of man.
ey ABIGL6 SissSIMehssd seilauTy) Siglsfeaiu Geieng

vi. Name three proteolytic enzymes in human pancreatic juice.
Lells FEnSWEFFTHIeIGTEN cpeiy Yrsulifoy Qprawrisemst QuWf@E.




o

iil.

vii. ~ What are the functions of amino peptidases in intestinal juice?
eLbETBllasTen SbGmrEULAGL Hssefst QBTN Wimsy?

viil. Name the two parts of the alimentary canal where fat is digested
Oarwly FllurG B Qumib FILTLE OsTEeSuls Syami UGSHemel QuuiBes.

viii.  Give two non enzymatic substances found in bile.
555560 sreamiuBh LUFSHn USTTSSHs BIeaid Hms.

What is meant by excretion?
BUYSHE0 EIHILGMTeL eflsTEiGaug LTE?

How does defecation differ from excretion?
eVRIBPHSHM aelan slsselelmha CaimuGans?

State the two main excretory products of man.
wellsellel SIAUCLTHL H6iT EFemTenL  &HE.

Name two animal groups that excrete solid nitrogenous waste as products.
WESTFN Bileysenen Hlemio Blemeoullsd GeuefGwimmibd elleomiEs anl Lib Bremtent L
Quuif@es.

What are the excretory organs of earth worm?
e jpellelr SIfleusBmId Sifish wimrg)?

10



-
(-
gmés
gl

oy

vi.  State two main factors which determine the nature of excretory products of an animal.
@ elleoridlenr sifo Quienst &Sirorsfis@h sryese BrewienL & H(Hb.

vil.  Give three functions of the human kidney other than urine production.
wells ABIesSHs AnET o marssd selibs OemPbur@eset (peim SHmHs.

viil. Name three ions secreted by the human nephron.
wells FAnpresAuleamsd srosiU@D SwsTas (PSSIMI  &H(HE.

iX.  State one main function of the juxta glomerular complex of the human kidney.
el FAPBIBSS Siatiennd HevaiGameTddsaseds drsren Qsmfsd @eim S5ms.

X.  Explain briefly why it is necessary to drink water frequently to reduce the risk of
developing stones in the kidney.
ADPISsslsd & 2 mamms H6He JlgbEsY BT SBESOE g6
DIUFWOTG O HBEHSBIONE 6o @s.

i
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PART B
uss B

Essay questions
&GNy allenTd el

Answer any three (03) questions
goTaug apsiip(03)  elamssendsd ol welss

2. (1) What is meant by “ biodiversity”?
- Yo ulflertiusbeusnaenin” st Te0 ellenmI@asl wWing?
- (ii) What are the factors affect to the loss of biodiversity?
o_ullflemtusbeusmessme GIplienu UTHH@GWD onyemlsen 6Teneu?
(1ii) Discuss the methods that are used to conserve biodiversity in Sri Lanka.
Gleomenasulsd 2 uiflertiusbeuamsaminenl LTHIGTES GomGsmsitsniu@d
(LPEDBHMEN  HEVHEHIOTWTHS.

3. Explain how temperature is regulated in human body.
weallg 2 L edlsd Qeuliuplenso steieutm FITHELULGSGIBE slen allondEs.

4. (i) What is meant by “ respiration”?

GOUTEFLD 6T60LIGHTE0 eleMBIEheNEH WTEHi?

(it) What are the main features that should be present in an efficient respiratory
surface of an animal?
@ elvomsls aflmasapeame seungd GuBUILLIE B)maosCausamtigw EUIOLIBET
wirgl?

(iit) Briefly describe the respiratory structures found in invertebrates.
(Lps6TTeTh 6T 60lB61Ted  SIETUILIBLD HoUTFHBHL L enIOLIL|BHemeN  Gi(h&ELIOTSH
BUTEmT .

5. (i) List the characteristic features of phylum Mollusca.
serid  Glorevsrvsmalsst QuIsIFABUTwWs BT LLIQUIeIHEs.
(ii). Name the classes belong to this phylum and explain characteristic features of
these classes.
Bhes SaNHMmBHE FMbHDH euGLLSmeT QUUNBS. BsioudiLbaate
QuTgIFABLLTIWeOLIBmeT eMleTdh @S,

6. Write short notes any two (02) of the following
Uenteumeuenteumilsd @rentigemen UMM FAm@miiy eTupsies.
(a). Locomotion on land
Sengullsd @ UeLwTEH
(b). Air pollution
6usTT  LDTFEML H60
(c). Nervous systems in invertebrates.
(peTTenih SHantigel&smell  BIFiDL|gCHT @61
(d) Cardiac muscle.
Pew HmF
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